100 B4 R H) SAHEA PR LR EFEENEE R,
fersatktrig i [HEALL] KA
EEREmEEGEE2 4 1) OO0

# X85 100 442
L] 48 3t B A

e
A
$ g =T N\ o N
2.2 5048 BAE2 4 - 485 100 4

A

1. »X PV=nRT @ H &) 8B %

AGBRAETIZAAAE B.aBRANIEAE Qe re 8 R
CHERANERAAY HARBRELAEHE D EEANERAE
2. R AMZA 0 T IMTH R
A TFREE B KRS THEAMKRIE B.RfEy FRERIA
CAEYSTFEAEE D.ABITAIAREAHM
3. AFFBET 0 T I RAMATA LB I A AR

A . He BCH4 CNH3 DSOZ
4. ERJEFiERBALE > T e 2 (A) £E A b1t (AG®) (B) RJE &y -T-47 %

(K) (€C) RIE®EILse (D) AG® A K-

5~8. The accompanying diagram represents a reversible Carnot cycle for an ideal gas:

5. What is the thermodynamic efficiency of the engine? (A) 20 % (B) 40 % (C) 60 % (D) 80
%.

6. How much heat is absorbed at 500 K? (A) 100J (B)2007J (C)300J (D) 4001J.

7. How much heat is rejected at 200 K? (A) 10J (B)20J (C)30J (D)401.

8. In order for the engine to perform 1.00 kJ of work, how much heat must be absorbed? (A) 167
k] (B)66.7 (C)16.7 (D) 1.67kJ.
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